O00000000 OO0 OexerciselCET40 O PDFO O O
Jo0o0oooooooooond
https://www.100test.com/kao_ti2020/561/2021 2022 E5 9B 9B
E7 BA A7 E8 BE 85 E5 ¢83 561155.htm 0 0 00 OO O

[1 exercisel His inclination to succumb to flattery made him -------
to the ------- of people who wished to take advantage of him.
A.immune . . predilection B.prejudicial . . intentions C.susceptible . .
cajolery D.resistant . . blandishments E.amenable . . rejection 1 C
Heres Why: The man in the sentence is “ susceptible” to flattery.
Because of this“ inclination,” he is an easy target for people who
use “ cajolery” (flattery) to get what they want. 100Test (1 [J [J [
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